Simple Savings to Investment Ratio (SIR) Comparison

Attic Insulation vs. Replacement Window 

Actual SIR calculations supported by NEAT, MHEA, and other approved audit tools account for the Present Value (PV) of money and fuel escalation rates over the lifetime of the measures to arrive at more accurate savings numbers. For the purposes of this exercise, the simple SIR calculations outlined here are adequate.

Use these sample numbers or plug actual numbers based on local audits, installation costs and utility prices to discuss SIR and how it supports measure selection within the WAP.

Change the assumptions and have students complete the calculations.

Attic Insulation

Assumptions

Savings/yr: $100 

Lifetime: 25 years

Investment: $400

SIR = Lifetime Savings/Investment

SIR = 25 x 100/400

SIR = 6.25
Replacement Window
Assumptions

Savings/yr: $5/window

Lifetime: 25 years

Investment: $200/window

SIR = Lifetime Savings/Investment

SIR = 25 x 5/200

SIR = .62
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